Tanums BK
Partavling 2022-07-25

Partavling, 12 bord, 23 par. Antal brickor: 24. Medel: 239.9. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 16 317.5 66.14 Sodren Hansson - Torbjérn Sandbéck 30665 70 Stromstads BK - Malungs BK
2 10 302.0 62.92 Martin Dellien - Bo Hedén 7489 7553 Uddevalla BF
3 1 289.0 60.21 EvaAndersson - Tommy Edvarsson 16716 46048 Hunnebostrand-Kungshamns BK
4 24 2771 57.73 Eva Haggstrom - Jonas Haggstrom 3206 38667 Boras BA
5 12 263.0 54.79 Inger Olsson - Birgitta Johansson 92887 16715 Tanums BK - Munkedals BS
6 19 257.5 53.64 Karl Andersson - Rolf Forsgren 7543 13628 Tanums BK
7 7 251.0 52.29 Rose-Marie Antonsson - Sune Gustafsson 88657 88664 Stromstads BK
8 6 243.0 50.63 Leif Holmberg - Rolf Kjaerstad 90888 59674 Tanums BK - Stromstads BK
9 15 2422 50.45 Jan Akervall - Madeleine Akervall 39086 39087 Tanums BK
10 11 239.0 49.79 Roger Nyman - Anders Dellien 7522 7117 Hunnebostrand-Kungshamns BK - Tjérns BK
11 8 238.0 49.58 Erik Fredriksson - Ronnie Brorsson 7561 78207 Stromstads BK
12 21 236.7 49.32 Carina Halvorsen - Ulf Halvorsen 91477 3452 Tj6érns BK
13 4 234.0 48.75 Ragnar Johansson - Nils-Ake Johansson 7487 7479 Stromstads BK - Munkedals BS
14 23 226.9 47.27 KentKarlsson - Niclas Samuelsson 3918 4362 Uddevalla BF
15 18 223.6 46.59 Berit Nyhagen - Berit Mauritzson 29462 17262 Hunnebostrand-Kungshamns BK - BS Damernas
16 13 2225 46.36 Goran Rohlén - Bertil Torbrand 34064 54663 BK Allians, Halmstad - BK S:t Erik
17 14 220.4 45.91 Dennis Karlsson - Lars-Olof Karlsson 46247 89545 Uddevalla BF
18 2 216.0 45.00 Birgitta Paulsson - Anders Stahlbom 7547 64423 Tanums BK
19 20 212.7 44.32 Lennart Wilgotson - Thomas Christianson 54691 64222 Strémstads BK - Tanums BK
20 17 2105 43.86 Georg Guttormsson - Ulla Guttormsson 7915 13504 BK Orjan
21 22 208.4 43.41 Gerd Lysell - Frank Andersson 88654 91300 Stromstads BK
22 3 206.0 42.92 Katarina Ekman - Ragnar Ekman 9450 7552 BK S:tErik
23 9 181.0 37.71 Arne lvarsson - Peter Bergengren 14092 43388 Tanums BK - Stromstads BK
1 4 Kn53 Basta kontrakt 2 4 Kn852 Basta kontrakt 3 432 Basta kontrakt
Nord v K852 5NT O =-460 Ost v EK6 2NT S =120 Syd vE972 54 V =-650
Ingen +76 NS + KD103 ov + DKn1087
#10976 & ¢ v & NT #Kn3 & ¢ v & NT #108 & ¢ v & NT
4 EK1074 486 N53222 a K7 4« ED43 N856 78 4 KD1095 484 N25 424
vD104 v EKn97 S53222 v 1093 v Kn875 S 856 7 8 vKD643 10 S 25424
+ K103 ¢ E985 O 8 10111111 ¢ EKn8542 ¢ 97 0577565 ¢- ¢ EK432 O 118 9 119
*K4 «D32 vV 8 10111111 #105 *E64 V57755 2965 #EKD32 vV 118 9 119
4 D92 #1096 4 EKn76
v 63 v D42 v Kn85
¢ DKn42 +6 4965
#EKn85 #KD9872 *Kn74
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
11 22 2NV +1 v2 -150 20.0 0.0|11 22 INS+2 v9 150 200 00|13 7 7NV-2 +Q 200 20.0 0.0
10 20 2NV +3 v5 -210 180 20| 1 13 INS+1 v9 120 16.0 40|17 9 3NV-1 +Q 100 18.0 2.0
17 3 2NV +4 v2 240 16.0 40| 7 14 2NN= 43 120 160 40|16 3 3#40+1 v5 -130 16.0 4.0
113 3NO= &5 -400 13.0 7.0(10 20 INN+1 a4 120 16.0 40| 6 22 34 V+1 *T -170 140 6.0
15 2 3NV= v2 400 13.0 7.0| 4 19 2¢DV-1 &J 100 120 80| 1 24 3NO= *7 -600 8.0 12.0
6 23 3NO+1 &5 -430 8.0 12.0| 6 23 2¢ V-1 %] 50 9.0 11.0{10 19 3NO= +6 -600 8.0 12.0
9 18 3NV +1 29 -430 8.0 12016 8 2¢ V-1 vA 50 9.0 11.0|{11 21 3NO= *7 -600 8.0 12.0
12 24 3NV +1 *6 -430 8.0 12.0| 9 18 3NN-1 +9 -100 40 16.0|12 23 3NO= 46 -600 8.0 12.0
4 19 3NO+2 2 -460 2.0 18.0{12 24 3NN-1 +9 -100 40 16.0|18 4 3NO= LN -600 8.0 12.0
7 14 3NV +2 29 -460 20 18.0(15 2 2NN-1 v8 -100 40 16.0| 8 15 3NO+1 v8 -630 2.0 18.0
16 8 3NO+2 &8 -460 2.0 18.0|17 3 4NN-2 +9 -200 0.0 20.0| 2 14 44 V+1 +Q -650 0.0 20.0
- 21 99| - 21 9.9 - 20 8.9
4 4 Kn107632 Basta kontrakt 5 4 E83 Basta kontrakt 6 4 Kn976 Basta kontrakt
Vast v EKKn 7NT N =2220 Nord v 87 64 N =1430 Ost vE7 2v O =-110
Alla ¢ E52 NS + ED106 ov + DKn74
«5 & ¢ v & NT #E1074 & ¢ v & NT #DKn4 & ¢ v & NT
a- & K95 N 117 101313 aKn75 &4 N 7 109 1210 4 E53 41042 N57566
v 76542 vD10 S 117 101313 vK432 vKn95 S 7 109 1210 v 109863 v KKn5 S57566
+ D106 ¢KKn9874 0O 2 6 300 * K2 ¢ Kn973 06 3111 + K6 ¢ 1052 O758¢6 6
#Kn10874 %96 V26300 #D852 #KKn963 V63111 £763 *EK105 V75866
«ED84 4 KD10962 «KD8
v 983 vED106 v D42
+3 ¢ 854 + E983
#EKD32 *- #9082
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
10 19 64 N +1 9 1460 190 10| 6 21 64 S= #2 1430 200 00| 1 23 INS= vT 90 20.0 0.0
16 3 64 N+1 3 1460 19.0 10| 1 23 44 S+2 a5 680 13.0 7.0| 2 13 Pass 140 6.0
17 9 64 N= &9 1430 16.0 40| 3 15 44 S+2 v3 680 13.0 7.0| 3 15 Pass 140 6.0
1 24 44 N+3 +8 710 10.0 10.0| 7 24 44 S+2 »2 680 13.0 7.0| 7 24 Pass 140 6.0
2 14 44 N+3 vT 710 10.0 10.0|11 20 44 S+2 »5 680 13.0 7.0(12 22 Pass 140 6.0
12 23 54 N +2 *7 710 10.0 10.0|17 4 44 S+2 a7 680 13.0 7.0(18 10 Pass 140 6.0
13 7 44 N+3 +8 710 10.0 10.0|18 10 44 S+2 &5 680 13.0 7.0| 6 21 24S-1 v9 -50 4.0 16.0
18 4 44 N+3 vT 710 10.0 10.0| 2 13 44 S+1 2 650 3.0 17.0| 9 16 3¢ N-1 2 -50 4.0 16.0
6 22 44 N+2 vT 680 20 18.0| 9 16 44 S+1 &5 650 3.0 17.0|11 20 INS-1 vT -50 40 16.0
8 15 44 N +2 +J 680 2.0 18.0|12 22 44 S+1 »2 650 3.0 17.0|14 8 3¢ S-1 v9 -50 4.0 16.0
11 21 44 N+2 49 680 20 18.0|14 8 44 S+1 v2 650 3.0 17.0|17 4 INS-1 v9 -50 4.0 16.0
- 20 89|19 - 10.7 19 - 10.7
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7 4 D743 Basta kontrakt 8 4 K108 Basta kontrakt 9 4 D102 Basta kontrakt
Syd vE2 24 S =110 Vast v 97 5NTV =-460 Nord v K32 44 O =-620
Alla + 85 Ingen +6 ov 4985
#ED943 & ¢ v & NT #D1086532 & ¢ v & NT #K852 & ¢ v & NT
+ 106 » EKn9 N8 6 786 29752 4 DKn6 N6 6 232 » K984 «E63 N6 36 34
vKnl1086 v K94 S86 7 86 vKD86 vE542 S66 232 v4 v 10876 S6 3634
+ KD643 ¢ Kn972 047646 ¢ED7 ¢952 O 7 7 118 11 | ¢KKnl0764 ¢ED O 7 107 108
*K8 #Kn106 V47¢64E¢6 *K9 *EKn7 vV 7 7 118 11 | #ED *Kn764 vV 7 107 108
& K852 4 E43 4 Kn75
v D753 v Kn103 v EDKn95
¢+ E10 ¢ KKn10843 +32
»752 *4 #1093
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 22 24 N+1 &T 140 170 3.0| 8 13 4v O-1 &4 50 200 00| 2 23 3NO-1 vA 100 20.0 0.0
2 24 24 N+1 LN 140 170 3.0| 1 22 3vO= &4 -140 180 2.0 3 13 2¢ V+2 3 -130 16.0 4.0
10 17 24 N+1 2 140 170 3.0 7 23 2v O0+2 &4 -170 140 6.0| 4 15 2¢ V+2 »8 -130 16.0 4.0
12 21 24 N+1 +9 140 170 3.0(10 17 3v V+1 +6 -170 140 6.0(19 6 3¢ V+1 v2 -130 16.0 4.0
3 14 24 N= 2 110 9.0 11.0|15 9 1v O+3 #4 -170 140 6.0| 1 21 1a V+2 +9 -140 120 8.0
4 16 24 N= v4 110 9.0 11.0| 3 14 3v V+2 +6 -200 9.0 11.0| 9 14 2¢ V+3 »2 -150 8.0 12.0
8 13 24 N= +J 110 9.0 11.0|19 11 3v V+2 +6 -200 9.0 11.0|11 18 2¢ V+3 »2 -150 8.0 12.0
15 9 24 N= +9 110 9.0 11.0|12 21 4v V= *6 -420 6.0 14.0|16 10 INO +2 v] -150 8.0 12.0
20 6 2¢ V-1 vA 100 40 16.0| 2 24 3NV +1 &5 -430 3.0 17.0{20 12 INO+3 &T -180 40 16.0
19 11 2¢ V= vA -90 2.0 18020 6 3NV+1 &5 -430 3.0 17.0| 8 24 INO+4 49 -210 2.0 18.0
7 23 34 N-1 *7 -100 0.0 20.0| 4 16 4vy O+1 #4 -450 0.0 20.0| 7 22 3NO= +3 -600 0.0 20.0
18 - 9.3 18 - 9.3 - 17 8.8
10 4 D9 Basta kontrakt 11 41042 Basta kontrakt 12 41043 Basta kontrakt
Ost v EK4 5¢ S =650 Syd v E108742 2¢ V =-90 Vast v D954 2NTV =-120
Alla + D93 Ingen + D53 NS + D7
#Kn10965 & ¢ v & NT +10 & ¢ v & NT *K763 & ¢ v & NT
«E852 4Kn763 N 117 117 10 4 K8 D963 N6 4775 s E7 » K985 N7 4775
v 86 vKn3 S 117 117 10 v Kn5 v K63 S6 47765 v32 vKn76 S74775
¢ K1084 ¢ E7652 01616 2 ¢ KKn987 ¢ E106 078567 ¢ Kn98654 ¢ E102 O6 956 8
*742 +D8 V16162 #9753 *E86 V78567 #1094 *ED8 V69568
4 K104 & EKn75 & DKn62
vD109752 vD9 v EK108
+Kn ¢ 42 + K3
#EK3 #KDKn42 #Kn52
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 21 49 S+2 v6 680 13.0 70| 3 24 3vN= ¢ A 140 170 3.0| 4 14 2v N= ¢ A 110 18.0 2.0
2 23 4v S+2 v6 680 13.0 7.0| 6 18 3v N= ¢A 140 170 3.0|10 15 2¢v N= ¢ A 110 180 2.0
3 13 4v S+2 s A 680 13.0 7.0(10 15 2v N+1 ¢ A 140 170 3.0(22 2 2vN= A 110 18.0 2.0
7 22 4v S+2 v6 680 13.0 7.0(22 2 2v N+1 A 140 170 3.0 8 23 3NO-1 vK 50 13.0 7.0
9 14 4v S+2 s A 680 130 7.0| 1 20 2¢ N= 46 110 120 8.0|17 11 4¢ V-1 v4 50 13.0 7.0
11 18 4v S+2 &7 680 130 70| 4 14 3¢ V-2 &T 100 10.0 10.0| 9 13 3v N-1 ¢ A -100 10.0 10.0
16 10 4v S+2 v8 680 13.0 70| 9 13 3¢ V-1 vA 50 6.0 140| 6 18 3¢ V= *6 -110 8.0 12.0
19 6 4v S+2 aA 680 13.0 7.0|12 19 24 O-1 vQ 50 6.0 14.0| 1 20 2¢ V+2 v9 -130 5.0 15.0
4 15 4v S+1 +8 650 3.0 17.0|17 11 3¢ V-1 a4 50 6.0 140| 3 24 3¢ O+1 vK -130 5.0 15.0
20 12 5v S= s A 650 3.0 17.0|21 7 2vS-1 &K -50 20 18.0|21 7 2NO+1 vK -150 2.0 18.0
8 24 2y N+4 43 230 0.0 20.0| 8 23 3v N-2 ¢ A -100 0.0 20.0|12 19 3v N-2 2 -200 0.0 20.0
- 17 88| - 16 13.2| - 16 13.2
13 » EK1043 Bésta kontrakt 14 4 D1097 Bésta kontrakt 15 & Kn82 Bésta kontrakt
Nord vKn4 3NT N =600 Ost v 1032 3¢ SD-1-100 Syd v2 2NTV =-120
Alla ¢+ 75 Ingen 410972 NS + EK54
#EKn103 & ¢ v & NT *54 & ¢ v & NT #Kn10842 & ¢ v & NT
«Kn87 4D965 N 109 7 8 9 «Kn862 4E53 N58565 +KD106 4 N7 4575
v 10863 v EK97 S9 97829 v 976 v EKD4 S58565 vE6 v1098753 S 7 45 7 5
¢+ D2 ¢ Kn86 034554 + D84 ¢+ K3 0856 7 8 410832 ¢ D976 05976 8
#7652 #K4 V34554 #Knl03 #D972 V85676 *EK6 *D5 V59768
a2 4 K4 « E9753
v D52 v Kn85 v KDKn4
+ EK10943 ¢ EKn65 +Kn
#D98 #EK86 #973
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 17 3NS= v3 600 190 10| 1 19 2¢v0-1 &K 50 190 1.0|12 17 24DS= &K 670 20.0 0.0
23 3 3NS= v3 600 190 10|20 7 24 V-1 v2 50 190 10| 1 18 4vDO-3 &A 500 170 3.0
4 13 24 N= vA 110 11.0 9.0|23 3 INS-1 LN -50 16.0 4.0(24 4 4vyDV-3 +A 500 17.0 3.0
9 24 3¢ S= *6 110 11.0 90| 6 17 INO= *6 -90 140 6.0(10 13 3¢DO-2 ¢Q 300 140 6.0
10 14 3¢ S= v6 110 11.0 9.0| 2 21 2NS- a2 -100 11.0 90| 6 16 4v O-3 s A 150 120 8.0
18 12 3¢ S= vT 110 11.0 9.0(10 14 INS-2 *J -100 11.0 9.0|23 9 24 S= 2A 110 10.0 10.0
20 7 3¢ S= v8 110 11.0 9.0 4 13 INO+2 ¢+5 -150 6.0 140| 3 22 2v V-1 ¢+ K 50 8.0 12.0
22 8 3¢ S= v8 110 11.0 90| 9 24 24S-3 v6 -150 6.0 14.0| 7 19 2¢ V= v2 -90 6.0 14.0
119 3NS-1 v6 -100 20 18.0|11 16 INS-3 46 -150 6.0 14.0|11 15 34 S-3 2A -300 4.0 16.0
2 21 3NS-1 v8 -100 20 18.0|18 12 INDV= vT -180 20 18.0|21 8 34DS-2 &K -500 2.0 18.0
11 16 3NS-1 v6 -100 2.0 18.0|22 8 INDO+2 +5 -380 0.0 20.0|/20 2 3NDV= +¢A -550 0.0 20.0
- 15 101| - 15 101 - 14 9.2
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16 & EKKn97 Basta kontrakt 17 4 E52 Basta kontrakt 18 4 Kn8 Basta kontrakt
Vast vE 4v N =420 Nord v Kn1093 24 O =-110 Ost v Kn742 54 S =650
ov + E106 Ingen + D862 NS ¢ EKn52
#9865 & ¢ v & NT «D10 & ¢ v & NT #EKn7 & ¢ v & NT
D83 » 10654 N 5 11107 5 «D4 # 109873 N6 6546 49 » 10754 N5 5 11119
vD9 v K75 S 5 11107 5 v K52 vED76 S66546 v D93 vE S 45 11118
¢ K97 ¢ Kn3 072367 ¢ Knl1075 ¢ K4 077887 +D10843 ¢ K96 087224
#KD1032 #EKn74 V72367 #EKKN6 493 V77887 #D852 #K10943 V87224
a2 & KKn6 » EKD632
v Kn1086432 v 84 v K10865
+ D8542 ¢ E93 *7
*- #87542 *6
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 18 2v S+2 *K 170 170 3.0| 4 23 3NV-2 45 100 190 10| 2 19 4v S+l +8 650 16.0 4.0
7 19 3v S+l &K 170 170 3.0|21 3 2v0O-2 v4 100 190 10| 4 23 5vS= +3 650 16.0 4.0
23 9 2v S+2 +K 170 170 3.0| 1 17 2NV-1 +3 50 13.0 7.0 7 18 4v S+l 9 650 16.0 4.0
24 4 2v S+2 *Q 170 170 3.0| 7 18 INV-1 vT 50 13.0 7.0|21 3 4v S+l *2 650 16.0 4.0
20 2 2v S+l &T 140 120 80|11 14 2¢O-1 *7 50 13.0 7.0|24 10 5v S= *5 650 16.0 4.0
3 22 3¢ S+1 *Q 130 9.0 11.0{22 9 INV-1 vT 50 130 7.0(12 16 4v S= *5 620 10.0 10.0
11 15 3¢ S+1 +K 130 9.0 11.0|12 16 INV= v3 -90 8.0 12.0| 1 17 54D O-3 &K 500 8.0 12.0
6 16 4v S-1 *K -50 40 16.0|24 10 24 O= v8 -110 6.0 14.0| 6 15 6v N-1 +9 -100 3.0 17.0
10 13 24 N-1 +J -50 40 160 6 15 2NV = v9 -120 40 16.0| 8 20 6v S-1 &5 -100 3.0 17.0
21 8 4v S-1 28 -50 40 16.0| 2 19 24 O+1 v8 -140 2.0 18.0|11 14 6v S-1 49 -100 3.0 17.0
12 17 INV= a2 -90 0.0 20.0| 8 20 INV+2 vT -150 0.0 20.0|22 9 6vS-1 *5 -100 3.0 17.0
- 14 9213 - 9.3 13 - 9.3
19 41064 Basta kontrakt 20 a- Basta kontrakt 21 4 KD10953 Basta kontrakt
Syd v E10853 3NT V =-600 Vast vE1097 64 N =1430 Nord vE 34 N =140
oV +8 Alla ¢ E7532 NS + Kn83
*D642 & ¢ v & NT *EK82 & ¢ v & NT *754 & ¢ v & NT
2982  4KDKn73 N56544 & 32 » K107 N9 7 7 127 a72 » EKn4 N7 7697
vKD92 ¢76 S56544 v K642 v D853 S 97 7 127 vK1052  vKn843 S876 97
¢1097 ¢ ED3 087799 ¢+ D4 ¢ KKn986 035611 ¢ D2 ¢ 109764 0567 44
#KKn8 #E107 V877899 #Knl10543 #6 V35616 #KDKn32 #8 V56744
aE5 » EDKn98654 » 86
v Kn4 vKn v D976
+ KKn6542 +10 + EK5
#953 »D97 #E1096
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
12 15 44 O-2 vJ 200 200 0.0| 1 16 44 S+2 3 680 10.0 10.0|10 22 3NS= *Q 600 20.0 0.0
2 18 44 O-1 vJ 100 170 3.0| 2 18 44 S+2 *] 680 100 100| 2 17 4v O -4 8 200 180 2.0
3 20 44 O-1 v] 100 170 3.0| 3 20 44 S+2 v4 680 10.0 10.0|24 11 24 N+2 &8 170 16.0 4.0
22 4 24 O= v4 -110 140 6.0| 7 17 54 S+1 *J 680 10.0 10.0| 4 21 24 N+1 &8 140 140 6.0
7 17 24 O+1 v4 -140 120 8.0 8 19 44 S+2 LN 680 10.0 10.0| 9 20 24 N= v4 110 120 8.0
8 19 24 O+2 vJ -170 8.0 12.0| 9 21 44 S+2 &T 680 10.0 10.0| 1 15 3aV-2 vA 100 9.0 11.0
13 11 24 O+2 v -170 8.0 12.0|12 15 44 S+2 *J 680 10.0 10.0| 8 18 3NO-2 8 100 9.0 11.0
14 6 24 O+2 vJ -170 8.0 12.0|13 11 44 S+2 &T 680 10.0 10.0| 6 13 44 N-1 *8 -100 5.0 15.0
23 10 3NO= v] -600 40 16.0|14 6 44 S+2 *J 680 10.0 10.0| 7 16 44 N-1 *T -100 5.0 15.0
116 44 O= +5 -620 2.0 18.0|22 4 44 S+2 &T 680 10.0 10.0| 3 19 3NS-3 +K -300 1.0 19.0
9 21 3NO+1 ¢2 -630 0.0 20.0|23 10 44 S+2 v2 680 10.0 10.0|14 12 44 N-3 *8 -300 1.0 19.0
- 24 115 - 24 115|123 - 9.5
22 & K652 Bésta kontrakt 23 484 Bésta kontrakt 24 & KKn7632 Bésta kontrakt
Ost v K108 3v O =-140 Syd v Kn97 3v V =-140 Vast vE6 5& N =400
ov ¢+ E92 Alla + 1087 Ingen *7
#1032 & ¢ v & NT #DKn1087 & ¢ v & NT *K432 & ¢ v & NT
a74 «D10983 N6 7 455 4 K10  EKNn76 N9 3366 484 «D1095 N 115 5 9 7
v 76542 vED9 S6 7455 vED863 v 1042 S9336€6 vKn105432 vD7 S 1155 9 7
¢KD8 ¢75 076986 ¢ DKn53 ¢ K9642 O 4 109 6 7 ¢ EKn3 ¢ KD1042 027846
#EK4  #DKnb5 V76886 *62 *4 V 4 109 6 7 106 *E8 V27814E€6
& EKn 4 D9532 o E
vKn3 v K5 v K98
+ Kn10643 ¢E 49865
#9876 #EK953 #DKn975
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 19 4v V-2 vT 200 170 30|16 2 3#S= +3 110 200 0.0]|10 21 34DN= ¢Q 530 20.0 0.0
7 16 4v V-2 a2 200 170 3.0(11 23 14 S= *6 80 180 20| 1 14 34 N= vQ 140 16.0 4.0
10 22 4v V-2 3 200 170 30| 1 14 44S-1 +Q -100 120 8.0| 8 17 24 N+1 vQ 140 16.0 4.0
14 12 4y V-2 &T 200 170 30| 4 20 4+ S-1 +Q -100 120 8.0|16 2 24 N+1  #A 140 16.0 4.0
115 4v V-1 &T 100 70 13.0| 8 17 5#S-1 vA -100 120 80| 4 20 3¢ O-2 s A 100 120 8.0
4 21 4v V-1 *A 100 7.0 13.0| 9 19 44S-1 +5 -100 120 80| 3 18 3¢ O-1 s A 50 7.0 13.0
6 13 4v V-1 ¢ A 100 7.0 13.0|15 7 4#S-1 +J -100 120 80| 9 19 3vO-1 s A 50 7.0 13.0
8 18 4v V-1 +9 100 7.0 13.0|24 6 3¢ V+1 8 -130 6.0 14.0|11 23 3v V-1 ¢7 50 7.0 13.0
9 20 4v V-1 a2 100 7.0 13.0| 3 18 3v V+1 *Q -170 2.0 18.0(24 6 3v V-1 *7 50 7.0 13.0
24 11 4v V- *9 100 7.0 13.0|10 21 3v V+1 a4 -170 2.0 18.0|13 12 34 N-1 +K -50 1.0 19.0
2 17 24 O= +3 -110 0.0 20.0|13 12 3v V+1 48 -170 20 18.0|15 7 34 N-1 ¢+ K -50 1.0 19.0
23 - 9.5 - 22 87| - 22 8.7
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